CONVENTION CARD - BASIC AGREEMENTS - Artemis CHRISTAKI - Michael
CHINARIS

2/1, 5¢ Major, 5¢ diamond, 1cl=2+c, 1Tm opening bid with inverted minor supp. = FG, limit
sup = via other minor with jump.

2wCB Stayman after 1nt rebid, 2 clubs asks for a 2d relay, 2diamonds = FG

KCBW 1430 in M, optional 1430 in minors, king asking bid reply 1% available king,
exclusion blackwood 3014, DOPI, ROPI.

1M - 3clubs = 6-9hcp, 4c¢ sup., 3diamonds = 9-11 hcp, 4c sup, its on after X too. Splinter
via Bergen, Jacoby no singl. Jacoby /Jordan/Splinter after 1M opening bid, 2wGame Try

Drury 3" & 4" position

Overcalls = Ghestem after 1 in a suit opening bid, Woolsey Multi-Landy 1NT opening bid
only in direct seat. TNT — p — p — X=reopening, 2clubs = both majors.

Lebenshol after overcalls in our INT opening bid, after reverse and after opps weak 2. Fast
arrival denies stopper.

Delayed Texas transfer, 2 clubs and then 4d/h after our 1NT = 6/4 in both majors
Smolen/Goldman Relay after 1NT opening bid

TNT - 3clubs = 5/5m weak, 1NT — 3diamonds = 5/5m strong, 1NT — 3H/S = 5/4m and singl
1NT - 2clubs - 2H/S — 4diamonds = supp bal. 15=hcp, (4clubs = ace asking with 4c sup.)
TNT - 2clubs - 2H/S - jump in other major = sup & singl, 13+hcp, 3NT asks singl.

TNT - 2clubs - 2H/S — 4NT = quantitative.

3NT Gambling

2D/H/S = weak 6¢, 2NT asking for outside value

Tany - 2D/H/S = limit 6¢

Ucda, 4" best, MUD, Lavinthal only when singlin dummy or in very obvious cases.

Cue = 10+hcp supp if passed hand, unlimited otherwise, 3-4™ suit F1

When opps overcall with 2 suits, cue in lowest suit = limit & sup., cue in highest suit = limit
with 4" suit, 5+c.



